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1. With reference to New Electronics Policy 2019, consider the following statements:
1) It aims to promote domestic manufacturing in Electronics System Design and Manufacturing (ESDM).
2) It aims to promote a government led R&D and innovation program.
3) The policy puts special thrust on industries like robotics, artificial intelligence and the aircraft sector.
Which of the statements given above is/are not correct?
a) land3only
b) 2and 3 only
c) land2only
d) 1,2and3

2. Consider the following statements about ‘Investor Education and Protection Fund Authority’:
1) Itis set up under the Ministry of Finance as a statutory body.
2) It aims to promote Investor’s Education, Awareness and Protection.
Which of the statements given above is/are correct?
a) 1lonly
b) 2only
c) Both1land2
d) Neither 1 nor 2

3. Consider the following statements.
1) Organic fertilisers are substances made up unprocessed material which are biological nature (plant/animal)
whereas bio fertilizer contains live biomass.
2) In last three years, bio fertilizer production has increased more than twice.
3) Regulation of organic fertilisers and biofertilizers is under Ministry of Chemical and fertiliser Welfare.
Which of the above statements is/are correct?
Select the correct code.
a) 1and2only
b) 2 and 3 only
c) 1land3only
d) 1,2and3

4. Consider the following statements regarding Armed Forces (Special Powers) Act, 1958.
1) One of the special powers under this Act is: Power to use force, including opening fire, even to the extent
of causing death if prohibitory orders banning assembly of five or more persons or carrying arms and

weapons etc. are in force in the disturbed area
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2) The Act provides that only Central Government can declare an area as ‘disturbed area’ where AFSPA can
be applied.

3) As per the Constitutional Article 356 it shall be the duty of the Union to protect every State against
external aggression and internal disturbance.

Which of the above statements is/are correct?

Select the correct code.

a) land2only

b) 1only

c) land3only

d) 3only

The Government recently launched a scheme called ‘Paramparagat Krishi Vikas Yojana’ to encourage various
farming practices. Which of the following farming practice is not included in the definition of the scheme?

a) Zero budget Natural farming

b) Vedic farming

c) Plantation farming

d) Cow farming

With reference to farm subsidies in India, consider the following statements:

1) Direct farm subsidies include farm loan waivers, seeds and fertilizers.

2) Indirect farm subsidies are paid to the farmers to make their products more competitive globally.
Which of the statements given above is/ are correct?

a) 1lonly

b) 2only

c) Both1land2

d) Neither 1 nor 2

A state in India has the following characteristics:

1) Its northern part is arid and semiarid.

2) Its central part produces cotton.

3) Cultivation of cash crops is predominant over food crops.

Which one of the following states has all of the above characteristics ?
a) Andhra Pradesh

b) Gujarat

¢) Karnataka

d) Tamil Nadu

Recently, Osman Sagar and Himayat Sagar reservoir are in news, they are located in which of the following

river,
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a) Pennar River

b) Tungabhadra River
¢) Musi river

d) Bhima River.

9. Arrange the following avenues of tax revenues in descending order of their contribution to Gross tax revenue
of India in recent years:
1) GST
2) Income tax (including corporate tax)
3) Customs and Excise duty
Select the correct answer using the code given below:
a) 1-2-3
b) 1-3-2
c) 2-1-3
d) 2-3-1

10. Which of the following are the reasons for the Indian political leadership to go in favour of industry as the

economy’s prime moving force after independence?

1) The dominant ideology around the world as well as in the WB and the IMF was in favour of
industrialisation as a means to faster growth.

2) By choosing industry as the prime moving force, India opted to industrialise the economy as well as
modernise the traditional mode of farming.

3) By the time India got her independence the might of industrialisation was already proven and there were
no doubts regarding its efficacy.

4) India expected to improve its defence by opting for industries as a prime moving force.

Select the correct answer using the code given below:

a) 1land2only

b) 1and 3 only

c) 1,2and3only

d) 1,2,3and 4
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